

$$\begin{aligned}
X \Rightarrow Y &= \bar{X} \vee Y = \overline{\bar{X} \wedge \bar{Y}} = \overline{X \bar{Y}} = X \uparrow \bar{Y} = X \uparrow (Y \uparrow Y) \\
X \Rightarrow Y &= \bar{X} \vee Y = \overline{\bar{X} \wedge \bar{Y}} = \overline{\bar{X} \downarrow \bar{Y}} = \overline{(X \downarrow X) \downarrow Y} = (X \downarrow (Y \downarrow Y)) \downarrow (X \downarrow (Y \downarrow Y)) \\
X \underline{\vee} Y &= \bar{X} Y \vee X \bar{Y} = \overline{\bar{X} Y \wedge X \bar{Y}} = \overline{\bar{X} Y \bar{X} \bar{Y}} = (\bar{X} \uparrow Y) \uparrow (X \uparrow \bar{Y}) = \\
&= ((X \uparrow X) \uparrow Y) \uparrow (X \uparrow (Y \uparrow Y)) \\
X \underline{\vee} Y &= \bar{X} Y \vee X \bar{Y} = (\bar{X} Y \vee X) (\bar{X} Y \vee \bar{Y}) = (X \vee Y) (\bar{X} \vee \bar{Y}) = \overline{\overline{(X \vee Y) (\bar{X} \vee \bar{Y})}} = \\
&= \overline{\bar{X} \vee \bar{Y} \vee \bar{X} \vee \bar{Y}} = (X \downarrow Y) \downarrow (\bar{X} \downarrow \bar{Y}) = (X \downarrow Y) \downarrow ((X \downarrow X) \downarrow (Y \downarrow Y))
\end{aligned}$$

Razumije se da su moguće i druge varijante, ali gore prikazane varijante su izražene pomoću najkraćih izraza.